
■ かけ算の答えを筆算で考えましょう。

① 11 × 5 ＝ ⑥ 67 × 2 ＝ ⑪ 63 × 3 ＝

× × ×

② 13 × 6 ＝ ⑦ 67 × 3 ＝ ⑫ 56 × 6 ＝

× × ×

③ 16 × 8 ＝ ⑧ 51 × 8 ＝ ⑬ 29 × 3 ＝

× × ×

④ 65 × 7 ＝ ⑨ 84 × 9 ＝ ⑭ 61 × 7 ＝

× × ×

⑤ 12 × 9 ＝ ⑩ 41 × 6 ＝ ⑮ 98 × 5 ＝

× × ×
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■ かけ算の答えを筆算で考えましょう。

① 11 × 5 ＝ ⑥ 67 × 2 ＝ ⑪ 63 × 3 ＝

1 1 6 7 6 3

× 5 × 2 × 3

5 5 1 3 4 1 8 9

② 13 × 6 ＝ ⑦ 67 × 3 ＝ ⑫ 56 × 6 ＝

1 3 6 7 5 6

× 6 × 3 × 6

7 8 2 0 1 3 3 6

③ 16 × 8 ＝ ⑧ 51 × 8 ＝ ⑬ 29 × 3 ＝

1 6 5 1 2 9

× 8 × 8 × 3

1 2 8 4 0 8 8 7

④ 65 × 7 ＝ ⑨ 84 × 9 ＝ ⑭ 61 × 7 ＝

6 5 8 4 6 1

× 7 × 9 × 7

4 5 5 7 5 6 4 2 7

⑤ 12 × 9 ＝ ⑩ 41 × 6 ＝ ⑮ 98 × 5 ＝

1 2 4 1 9 8

× 9 × 6 × 5

1 0 8 2 4 6 4 9 0

128 408 87

55 134 189

78 201 336

455 756 427

108 246 490
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